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FACULTY OF HUMANITIES

B.A. (Third Year) (Fifth Semester) EXAMINATION

NOVEMBER/DECEMBER, 2023

ECONOMICS

Paper-IX

(History of Economic Thoughts : DSE-I)

(Tuesday, 5-12-2023) Time : 10.00 a.m. to 12.00 noon.

Time—Two Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(i)

(ii)

1. What is Merchantilism ? Explain the causes of rise it. 10

Or

Write in detail Adam Smith's views on Division of Labour.

3CE86CFB407D2B1FF11F9ECA92188206
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2. Comment on Thomas Malthus's theory of population. 10

Or

Explain the role of time in price determination.

3. Discuss on David Ricardo's theory of value. 10

Or

Explain the ideas of Arthur Pigou regarding Welfare Economics.

4. Explain the role of innovation in economic development. 10

Or

Explain the features of physiocracy.
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5. Write short notes on any two of the following : 10

(i) Ricardo's views on wages

(ii) External Economics

(iii) Diamond-water paradox

(iv) Crisis of capitalism.

(i)

(ii)

(iii)

(iv)
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